
تمرين - الضرب في عدد مكون من رقمين

احسب: 
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x 3 9 x 1 9 x 4 3 x 1 8

.. .. .. .. .. .. .. .. .. .. .. .. .. .. .. ..

.. .. .. . .. .. .. . .. .. .. . .. .. .. .

= .. .. .. .. = .. .. .. .. = .. .. .. .. = .. .. .. ..

php.المدرسي.الدعم/www.fpcourses.com/Math/Arسلسلة من التمارين من الموقع :

https://www.fpcourses.com/Math/Ar/الدعم.المدرسي.php


تصحيح - الضرب في عدد مكون من رقمين

احسب: 

3 8 6 3 0 6 7 8 4 5 3 4
x 2 2 x 2 7 x 1 2 x 1 7

7 7 2 2 1 4 2 1 5 6 8 3 7 3 8
7 7 2 . 6 1 2 . 7 8 4 . 5 3 4 .

= 8 4 9 2 = 8 2 6 2 = 9 4 0 8 = 9 0 7 8

6 0 3 8 3 0 6 4 5 4 1 3
x 1 3 x 1 1 x 1 5 x 2 1

1 8 0 9 8 3 0 3 2 2 5 4 1 3
6 0 3 . 8 3 0 . 6 4 5 . 8 2 6 .

= 7 8 3 9 = 9 1 3 0 = 9 6 7 5 = 8 6 7 3

2 7 1 3 1 0 5 9 2 3 3 4
x 3 2 x 2 3 x 1 4 x 2 9

5 4 2 9 3 0 2 3 6 8 3 0 0 6
8 1 3 . 6 2 0 . 5 9 2 . 6 6 8 .

= 8 6 7 2 = 7 1 3 0 = 8 2 8 8 = 9 6 8 6

2 4 3 5 1 7 1 6 8 5 3 8
x 3 9 x 1 9 x 4 3 x 1 8

2 1 8 7 4 6 5 3 5 0 4 4 3 0 4
7 2 9 . 5 1 7 . 6 7 2 . 5 3 8 .

= 9 4 7 7 = 9 8 2 3 = 7 2 2 4 = 9 6 8 4
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